%|| Averages and The Range I
. . é\REVISE THIS
I T

1 Hereis a list of numbers. @

2 3 3 6 7 10 11

(a) Write down the mode

(b) Work out the range
-2 g

(c) Work out the median

136 AWM

(d) Work out the mean

2434+ 40+ F+10 41l= 42
G2+3F =06

6

(Total for Question 1 is 6 marks)
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2 Hereis a list of numbers.

6 10 8 10 4 4 3 10 8

(&) Write down the mode

| O

(b) Work out the range

10 -5

(c) Work out the median

3 44 6 &8 8 10 10 10

(d) Work out the mean

V+444+ 6+ 9+ 9 410+ 10+19 = b
63+9 =%

7

(Total for Question 2 is 6 marks)

2
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3 Hereis a list of numbers.

10 6 1 9 7 9

(&) Write down the mode

(b) Work out the range

|0 -\

(c) Work out the median

X &3 a9 9 16

(d) Work out the mean

| + 6+ +qQ+9 +10 = 4L
42:6 =%

+

(Total for Question 3 is 6 marks)
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Here is a list of numbers.

7 13 16 23 6 12 16 11

(&) Write down the mode

(6

(b) Work out the range

13- 6
K

(c) Work out the median

KX wiz135 B lg 28

(2-3

(d) Work out the mean

G+F+ NH11 412 +Ib+1b+23: 1O
\okr=9=1%3

173

(Total for Question 4 is 6 marks)
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5 Here is a list of numbers.

37 44 49 55 55 60

(&) Write down the mode

9D

(b) Work out the range

bo - 3F
23

(c) Work out the median

Vr Y 4a sS 56 o6

52

(d) Work out the mean

TF + 44 +49q + 65155 460:= 300
2006 =950

30

(Total for Question 5 is 6 marks)
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6 Here is a list of numbers.

-5 —4 0 4 4 13

(&) Write down the mode

(b) Work out the range

12-(5)
| 8

(c) Work out the median

- -% O w X

(d) Work out the mean

V+4+% vyO0 -4-5 = 12
\L=6 =71

2

(Total for Question 6 is 6 marks)
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7 Here is a list of numbers.

4 -8 3 -8 8 -10 -3

(&) Write down the mode

(b) Work out the range

% - C\o)
| 9

(c) Work out the median

_W/u—/g/l_/gl -_S; %1%‘g

(d) Work out the mean

Q+r4+3-3-%-8-10 - -\
e -1

-2

(Total for Question 7 is 6 marks)

7
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8 Here is a list of numbers.
1 6 3 9 7 13 10

Caleb works out the median.
His working is shown below.

Pog F e 7 B 8

median =9

Caleb’s answer is incorrect.
Explain the mistake that he has made.

Pe did not put the numbers

W order {(r.sb.

(Total for Question 8 is 1 mark)

9 Here is a list of numbers.

Phil works out the mean.
His working is shown below.

3 +5+ 7+ 10 + 15 - 5 = 28
mean = 28

Phil’s answer is incorrect.
Explain the mistake that he has made.

He showd have added the numbess

4o 39}, ototval. Then divide iy bJ >

I Ly weq |2l'n5 Phe 23 will ke done fivet.

(Total for Question 9 is 1 mark)
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10 Here is a list of numbers.

6 4 8 17 13 20 26

Tina works out the range.
Her working is shown below.

26 - 6 = 20

range = 20

Tina’s answer is incorrect.
Explain the mistake that she has made.

The smallest number is b and net

(Total for Question 10 is 1 mark)
11 Here is a list of letters.

A B B A C C A B Cc Cc

Write down the mode

C

(Total for Question 11 is 1 mark)

12 The range of a set of number is 9.
The smallest number is 4.

Work out the largest number.

&+ 9

13

(Total for Question 12 is 1 mark)
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13 The table shows the maths test scores of five students.

Jason Zach Billy Trini Kimberley

48% 68% 73% 7% 69%

(a) Work out the range of the maths test scores.

Zach says “my test score was above the average”

(b) Show that when using the mean average, Zach is correct.

4“2 + 68 +A3 +3F3F+0q = 33S
335“' S = 6?0/0
622% > X"/,

(c) Show that when using the median average, Zach is incorrect.

W8, o, 61, V5, Y2
WMedign = 61 /o
8% < 69°0

(Total for Question 13 is 5 marks)

10
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